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1. Let x;, y; be consumer i's consumption of good x and numeraire, respectively.
Suppose an economy with two consumers who have the same utility function:
Uix, v)=4 In(x;)+y,, i=1, 2. Consumer 1 1s endowed with 5 units of good x and

2 units of numeraire while consumer 2 owns 3 units of good x and 6 units ot

numeraitre.
a. What is the ordinary demand oi x for agent 1?7 (5 73")
b. What is the definition of Pareto optimum? (5 73)

c. What is the contract curve for the above economy? (5 73)

d. What is the core for the economy? (5 73')

e. What is the competitive equilibrium price for the economy? (5 73')

2. a. What is the definition of "completeness" property for a rational individual's

preference? (5 73)
b. What is weak axiom of revealed preference (WARP)? (5 77"
¢. Suppose a consumer consumes only two goods. In June, both the prices of

good 1 and good 2 are 10 and she consumes 10 units of each good. In July,
the price of good 1 is 10, the price of good 2 is 8, and she consumes 14 units of
oood 1 and 4 units of good 2.  Whether her behavior violates WARP? (10 93°)

d. Whether her consumption in June is directly revealed preterred to that in

July or the other way around? (5 77")

3. o. ARPTELHBRENGPEREFT KHRARFPEENRT o (10 77)
bh. FEATELRERANRIBEZEFT KERB/ERE o (10 77)
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